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1.Each rear tire on an experimental airplane is supposed to be filled to a pressure of 40 psi.
Let X denote the actual air pressure for the right tire and Y denote the actual air pressure

for the left tire. Suppose that X and Y are random variables with the joint density given by

flx y)={k(x2+y2), 30< x,y <50
' 0 elsewhere.

(a)Find k; (543) (b)find the probability that both tires are underfilled. (5%)

2. BN HAIATRITZASEERS] - BiErt 1 E4oESaS - ERe MBS —1 - BOEMD = EMETE - (a) S0

e = EEES CTERBISR) ZHERIT 2 (559) (b) EBLUIMI AR TIE  H1E 4o EERS ke b o HEREE -
P R LS (RIS ORI FTHEZ 6 ESRABAR & T  (RRBSS R AT R o (MRS B A HBE (R aIst)  Cae
TIEZRERFRSOT  RE TR SEB AR EHBIRARSD 2 (105)

58 i BB SRESEE [ ATBEEEE (HTERIT)
U 88 ANEEF 0 |~ 206,762,658
EO NS ks a5 ek il A 1 13,128,703
2 8 B A S 73 199,828
BR 0% | WoP{EUO{EEREE R 207 35,235
{88 B EPuESR 4,569 . 6,385
[ 88 B = SRS+ RSk 6,972 1,000
& 48 ¥h{E=(E5R5 89,965 400

3. EAIREASRREE RS — R R BB BN - TS ER  BHEER 125 - (a) AR 05T ERYH
EBFTGLEEIRZ A ? (593 (b) %ﬁk‘ffﬁﬁu5%mn%i?ﬁ:ﬁ*%ﬁ)\@ikﬁﬁiﬁﬂiﬁBﬁﬂ%w&‘i » R TER ST
& ? (553)

4 H— B FHIRE LB (components) FTHER » ATFEIFTR - ESAEIFARBE 4 (F A HARAFCBRDE - — (ARG 1ER -
FARENEEM o A ATBEEE (reliability)  BISRAEVERZMSRINE AR « MEAMMEIFSEIZIER @ (a) BUR
REARMERIBER (55) (b') B AR A R CTRAEFRZSR - (1053
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5.A random sample of 200 voters is selected and 114 are found to support an annexation suit.
Find the 96% confidence interval for the fraction of Qhe voting population favoring the suit.
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6.The grades of a class of 9 students on a midterm report(x) and on the final examination(y)

are as follows:
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(a)Estimate the linear regression line ﬂY|x=a+&' (543)

(b)Construct a 95% confidence interval for f£. (105})

7.An Experiment was conducted in which two types of engines, A and B, were compared. Gas mileage

in miles per gallon was measured. Fifty experiments were conducted using engine type A and 75
experiments were done for engine type B. The gasoline used and other conditions were held constant.

The average gas mileage for engine A was 36 miles per gallon and the average for machine B was
42 miles per gallon. Find a 96% confidence interval on M, - M,, where MY, and |, are population
mean gas mileage for machines Banda, respectively. Assume that the population standard deviations

are 6 and 8 for machines A and B, respectively. (1053)

8 . PRIASAL R TR RS TR TG RENE 40%  STRIEIN 10 fE SEITHE SRR/ NS 2 SR IS T4 -
R L EMER M HAGERIER 40% - (a) BE LMMEMBE - AIEREREII TR T $#8 (type I error)

ZBERRT? (553) (b) FHIBRSAEHERE 25% » BIETH 11 8838 (type IT error) KRBT ? (104})

TABLE A4 Critical Values of the ¢-Distribution
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U 035 omr 1wt 1o 30 san 1aice 0.0 | 8398 5438 5478 5517 5557 5596 5636  .S675  STl4  .$753
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30 0277 0584 097 1250 1638 238 3182 03 | 6179 - 6217 6255 6293 6331 6368  .6406.  .6443 6480 6517
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7| G2 o owe i a0 e fyoi 08 |.7257 791 ame ST 7389 a2z 4 7age 1517 1ses
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10| 0260 0542 0879  1.093 1372 1812 2298 09 | 8159 8186 8212 8238 8264 8289  .831S 8340  .8365 8389
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34 9997 .9997 9997 9997 9997 9997 9997 9997 9997 9998




